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Aufgabe 15

< Tk, Tl > =
∫ 1
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1√
1− x2

cos(k arccos x) cos(l arccos x)dx

=
1
2

∫ 1

−1

1√
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cos((k − l) arccos x)dx +
1
2

∫ 1

−1

1√
1− x2

cos((k + l) arccos x)dx

=
1
2

∫ π

0

1
sin t

cos((k − l)t)(− sin t)dx +
1
2

∫ π

0

1
sin t

cos((k + l)t)(− sin t)dx

=
1
2

sin((k − l)t)
k − l

∣∣∣π
0

+
1
2

sin((k + l)t)
k − l

∣∣∣π
0

= δlk

Aufgabe 17

Es ist nach Satz 2.4.2:

f(x)− p(x) = (x− x0)2(x− x1)2
f (4)(ξ)

4!

Mit x1 − x0 = h und a = x1 − x gilt:

(x− x0)(x− x1) = a(h− a) ≤ 1
4
h2

Somit ist:

|f(x)− p(x)| ≤ 1
384

max
ξ∈[x0,x1]

∣∣∣f (4)(ξ)
∣∣∣


